Summary of Yields Study
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Yields for Packing Fraction Runs

2.2 GeV, 2.5T Transverse, Material 7

Normalized Yields (good electron cuts applied)

*LT normalization is the average of the helicity gated LT
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Things that have been checked

Effect of Cuts

Tighter Acceptance/PID cuts
Helicity gated yields

15t and 2" half of run
Multi-track efficiency

Raster cuts

Rate/current



Sum of Channels (0-18)

Effect of Cuts

Effect of Cuts
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Effect of Cuts (Acceptance)

Y Cut: +/- 0.05 X Cut: +/- 0.5 dp Cut:+/- 0.035
- 40000
14000 |- 40000 - g
N - 35000 [~
- 35000 [~ i
12000 |- i :
[ [ 30000 [~
[ 30000 |- X
10000 |- : -
L [ 2 b
[ 25000 [~ 5000 [
8000 |- i X
i 20000 - 20000
6000 [ 15000 F- 15000 |-
4000~ 10000 - 10000 |-
20001~ 5000 - . 5000 |- P
oE AT PP T T P b —.|...|...|..L_,.|. F ‘..I...I..LI..—I...
-0.1 -0.08-0.06-0.04-0.02 0 0.02 0.04 0.06 0.08 0.1 1 -08 -06 -04 -02 0 02 04 06 806 004 002 0 0.02 004  0.06
Theta Cut: +/- 0.05 Phi Cut: +/- 0.05
20000 - 14000 |- — 3503
18000 |- [
- 12000 |- —
16000 |- i 3574
14000:_ 10000_— 3727
12000 - I —_—
2 8000 - 3864
10000 |- 5
8000 :_ 6000 [~
6000 |- 4000 |-
4000 [
s 2000
2000 |- [
. A : ok AP IR PP B
806 004 002 0 002 004 006 -0.06 -0.04 -002 0 002 004 006



Effect of

Cuts (PID)

Cherenkov Sum Cut: Cer > 200 PR1 Cut: PR1/p > 0.212 E/p Cut: (PR1+PR2)/p > 0.59
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Sum of Channels (0-18)

Using Tighter Acceptance Cuts

Effect of Tight Acceptance Cuts
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Using Tighter Acceptance Cuts

Y Cut: 0.0<y <0.04
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Using Tighter PID Cuts

Effect of Tight PID Cuts
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Using Tighter PID Cuts

Cherenkov Sum Cut: Cer > 1000

PR1 Cut: PR1/p > 0.30 E/p Cut: (PR1+PR2)/p > 0.75
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Sum of Channels (0-18)
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Sum of Channels (0-18)
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Including Multi-track Efficiency
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Raster Test

Yields

nu (MeV)

Lrb.tgt_0_x:Lrb.tgt_0_y
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run 3574

Test: try different sized cuts
on raster to check if beam
was scraping something
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Raster Test

Yields

Lrb.tgt_0_x:Lrb.tgt_O_y
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Raster Test

Yields

Lrb.tgt_0_x:Lrb.tgt_O_y
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Rate (Hz)/Current (nA)
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